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Chemical Relationships

2H2 + 102 - ZHzo
Determine the quantities produced or consumed. Show all work. Follow significant figures.

If 200.0 H; are consumed,
1, How many Q; are consumed?
2, How many HzO are consumed?

CHa+ 20, > €Oz + 2H,0
If a person is producing CO, at a rate of 2.50E5 molecules per se second:
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3. What is the rate the O; is being consumed? < L/JC(":?; /1\ Do 05,0 (D (o
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4. What is the rate the water is beang produced? &\:} , ‘™
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Cu + AgNQOs; 5Cu(NOs)z + Ag

After a reaction has completed, 25,000. Ag atoms were produced,
5. How many AgNO; units must have been present?
6. How many Ag atoms can you extract from the answer from #57?
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6C0; + 6H;0 = CeH1:06 + 605
Note: 6CO; have a mass of 264amu A, = Tt st
6 H20 have a mass of 108 amu, 0 -, ey [ O
1 C¢H1206 has a mass of 180 amu

0; =32 amuy, O —_
| 1= st

7. If you have 250.0 CO; molecuEes gete{mmje how many

it AR A R _5:’(“

of every other reactant,a d product
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needed or produced.
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8. With the given information, how much mass does 60acontain? - { (), | 52’0@«%& |
9. What is the mass of 1 CO,? ;)1 L0z | 2ot Yl "‘Z{:qh} T O .
10. What is the mass of 1 H,0? e 'Q{)&@:J
11. Why the difference? ) e e o 7:\\
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Answer the following questions relative to: CsH120s

;o

1. If you have 1 CeH120s how many Hydrogens are present? 1_ 2= ;
2. If you have 10 CsH120s how many hydrogens are present? (D » 7= 120> =
3. i you have 150 CsH1206 how many carbons are present? [ ST D={p f&?{){f) £
4, if you have 500 H,O moiecules do you have more or less O then 100
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Answer the following question relative to: 6 AgNOs; & 3(NH4).0

5. Which element is in equal quantities between the two substances? » //

I“f

6. Which substance contains the most particles? fo L i

Answer the following questions relative to AgNQ; (Ag = 107 amu, N = 14
amu, 0 =16 amu)
R Y N R
7. What is the total mass of 07 = QWJ{@;&?M@ ALY AT
8. What is the total mass (amu) of 1 AgNO3? 1O+ 4 + "*‘(} =l 1 sl
9. How much mass of N is in 6 AgNOs? & F5M05.) """?g PN “EHam,
10.1f a student has 200 amu of Ag, how much AgNO3 can be ma‘deﬂassuming
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